## ГОДИШНИК НА СОФИЙСКИЯ УНИВЕРСИТЕТ "СВ. КЛИМЕНТ ОХРИДСКИ"

ФАКУЛТЕТ ПО МАТЕМАТИКА И ИНФОРМАТИКА Том 103

ANNUAL OF SOFIA UNIVERSITY "ST. KLIMENT OHRIDSKI"

FACULTY OF MATHEMATICS AND INFORMATICS Volume 103

# MULTITIME ACTION RECURRENCES ON A MONOID

### CRISTIAN GHIU, CONSTANTIN UDRIŞTE, RALUCA TULIGĂ

The discrete multitime multiple recurrences are common in analysis of algorithms, computational biology, information theory, queueing theory, filters theory, statistical physics etc. We discuss in detail the cases of recurrences on a monoid, highlighting in particular algebraical aspects and original theorems on existence and uniqueness of solutions.

Keywords: multitime recurrences, recurrence on a monoid, matrix 3-sequence 2010 Math. Subject Classification: 65Q99

#### 1. DISCRETE MULTITIME MULTIPLE RECURRENCE

Generically, we refer to *discrete multitume multiple recurrences* of the form

$$x(t+1_{\alpha}) = F_{\alpha}(t, x(t)), \quad \forall t \in \mathbb{Z}^m, \ t \ge t_0, \ \forall \alpha \in \{1, 2, \dots, m\},$$
(1.1)

where  $F_{\alpha}$ :  $\{t \in \mathbb{Z}^m \mid t \geq t_1\} \times M \to M, \alpha \in \{1, 2, \dots, m\}, m \in \mathbb{N}^*, t_0, t_1 \in \mathbb{Z}^m, t_0 \geq t_1; 1_{\alpha} = (0, \dots, 0, 1, 0, \dots, 0) \in \mathbb{Z}^m$ , i.e.,  $1_{\alpha}$  has 1 on the position  $\alpha$  and 0 otherwise; M is a nonvoid set. The unknown function is an m-sequence  $x \colon \{t \in \mathbb{Z}^m \mid t \geq t_0\} \to M$ .

Let us start by presenting two results on the existence and uniqueness of the recurrence (1.1) solutions (see [4]).

**Proposition 1.** If for any  $(t_0, x_0) \in \{t \in \mathbb{Z}^m \mid t \ge t_1\} \times M$ , there exists at least one solution  $x: \{t \in \mathbb{Z}^m \mid t \ge t_0\} \to M$  which verifies the recurrence (1.1) and the condition  $x(t_0) = x_0$ , then

$$F_{\alpha}(t+1_{\beta}, F_{\beta}(t, x)) = F_{\beta}(t+1_{\alpha}, F_{\alpha}(t, x)),$$

$$\forall t \ge t_{1}, \ \forall x \in M, \quad \forall \alpha, \beta \in \{1, 2, \dots, m\}.$$

$$(1.2)$$

**Theorem 1.** We consider the functions  $F_{\alpha}$ :  $\{t \in \mathbb{Z}^m \mid t \geq t_0\} \times M \to M$ ,  $\alpha \in \{1, 2, \ldots, m\}$ , such that,  $\forall t \geq t_0$ ,  $\forall x \in M$ ,  $\forall \alpha, \beta \in \{1, 2, \ldots, m\}$ , the relations (1.2) are fulfilled.

Then, for any  $x_0 \in M$ , there exists a unique function

$$x \colon \left\{ t \in \mathbb{Z}^m \, \middle| \, t \ge t_0 \right\} \to M,$$

which verifies

$$x(t+1_{\alpha}) = F_{\alpha}(t, x(t)), \quad \forall t \ge t_0, \quad \forall \alpha \in \{1, 2, \dots, m\},$$

and the condition  $x(t_0) = x_0$ .

## 2. MULTITIME RECURRENCES ON A MONOID

A monoid is an algebraic structure with a single associative binary operation and an identity element. Monoids are used in computer science, both in its foundational aspects and in practical programming.

Our aim is to analyse a multitime recurrence on a monoid  $(N, \cdot, e)$ . We consider  $\eta: N \times M \to M$ , an action of the monoid N on the set M, i.e.

$$\eta(ab, x) = \eta(a, (b, x)), \quad \eta(e, x) = x, \quad \forall a, b \in N, \forall x \in M.$$
(2.1)

We will use the more convenient notation

$$\eta(a, x) = ax, \quad \forall a \in N, \ \forall x \in M$$

(not to be confused with the operation of monoid N). The relations (2.1) become

$$(ab)x = a(bx), ex = x, \forall a, b \in N, \forall x \in M.$$

The action functions  $a_{\alpha}$ :  $\{t \in \mathbb{Z}^m | t \geq t_1\} \to N, \alpha \in \{1, 2, \dots, m\}$  (with  $t_1 \in \mathbb{Z}^m$ ) define the action recurrence

$$x(t+1_{\alpha}) = a_{\alpha}(t)x(t), \quad \forall \alpha \in \{1, 2, \dots, m\},$$
(2.2)

with the unknown function  $x: \{t \in \mathbb{Z}^m \mid t \ge t_0\} \to M, t_0 \in \mathbb{Z}^m, t_0 \ge t_1.$ 

Introducing the set

$$\mathcal{Z} := \left\{ t \in \mathbb{Z}^m \, \middle| \, t \ge t_1 \right\}$$

and using Proposition 1 and Theorem 1, one can prove easily the following result (see [5]):

Ann. Sofia Univ., Fac. Math and Inf., 103, 2016, 53-60.

54

**Theorem 2.** a) If, for any  $(t_0, x_0) \in \mathbb{Z} \times M$ , there exists at least one function  $x: \{t \in \mathbb{Z} \mid t \geq t_0\} \to M$ , which, for any  $t \geq t_0$ , verifies the recurrence (2.2) and the condition  $x(t_0) = x_0$ , then

$$a_{\alpha}(t+1_{\beta})a_{\beta}(t)x = a_{\beta}(t+1_{\alpha})a_{\alpha}(t)x,$$

$$\forall t \in \mathcal{Z}, \ \forall x \in M, \quad \forall \alpha, \beta \in \{1, 2, \dots, m\}.$$
(2.3)

b) If the relations (2.3) are satisfied, then, for any  $(t_0, x_0) \in \mathbb{Z} \times M$ , there exists a unique function  $x: \{t \in \mathbb{Z} \mid t \geq t_0\} \to M$ , which, for any  $t \geq t_0$ , verifies the recurrence (2.2) and the condition  $x(t_0) = x_0$ .

For any point  $t = (t^1, \ldots, t^m) \in \mathbb{N}^m$ , it is useful to denote

$$|t| := t^1 + \ldots + t^m.$$

**Theorem 3.** Suppose that the monoid N is commutative. Let us consider the function (sequence)  $r: \mathbb{N} \to N$  and the elements  $q_{\alpha} \in N$ ,  $\alpha \in \{1, 2, ..., m\}$ ,  $p_{\alpha\beta} \in N$ ,  $\alpha, \beta \in \{1, 2, ..., m\}$ , with  $p_{\alpha\beta} = p_{\beta\alpha}, \forall \alpha, \beta$ .

For each index  $\alpha \in \{1, 2, \dots, m\}$ , we define the function

$$a_{\alpha} \colon \mathbb{N}^m \to N, \ a_{\alpha}(t) = q_{\alpha} \cdot p_{\alpha 1}^{t^1} p_{\alpha 2}^{t^2} \cdot \ldots \cdot p_{\alpha m}^{t^m} \cdot r(|t|), \ \forall t = (t^1, \ldots, t^m) \in \mathbb{N}^m.$$

We shall consider the recurrence (2.2) defined by these functions.

In the previous conditions, for any  $x_0 \in M$ , there exists a unique m-sequence  $x \colon \mathbb{N}^m \to M$ , which, for any  $t \in \mathbb{N}^m$  verifies the recurrence (2.2), as well as the condition  $x(0) = x_0$ . This m-sequence is defined by

$$x(t) = \prod_{\alpha=1}^{m} q_{\alpha}^{t^{\alpha}} \cdot \prod_{\alpha=1}^{m} (p_{\alpha\alpha})^{\frac{t^{\alpha}(t^{\alpha}-1)}{2}} \cdot \prod_{1 \le \alpha < \beta \le m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} \cdot \prod_{j=0}^{|t|-1} r(j) \cdot x_{0}, \ \forall t \in \mathbb{N}^{m} \setminus \{0\}$$
(2.4)

(if m = 1, then the factor  $\prod_{1 \le \alpha < \beta \le m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}}$  does not appear).

*Proof.* For any  $\alpha, \beta$ , we have

$$a_{\alpha}(t+1_{\beta}) = p_{\alpha\beta} \cdot q_{\alpha} \cdot p_{\alpha1}^{t^{1}} p_{\alpha2}^{t^{2}} \cdot \ldots \cdot p_{\alpham}^{t^{m}} \cdot r(|t|+1), \quad a_{\beta}(t) = q_{\beta} \cdot p_{\beta1}^{t^{1}} p_{\beta2}^{t^{2}} \cdot \ldots \cdot p_{\betam}^{t^{m}} \cdot r(|t|),$$
$$a_{\alpha}(t+1_{\beta})a_{\beta}(t) = p_{\alpha\beta} \cdot q_{\alpha}q_{\beta} \cdot p_{\alpha1}^{t^{1}} p_{\alpha2}^{t^{2}} \cdot \ldots \cdot p_{\alpham}^{t^{m}} p_{\beta1}^{t^{1}} p_{\beta2}^{t^{2}} \cdot \ldots \cdot p_{\betam}^{t^{m}} \cdot r(|t|)r(|t|+1).$$

It follows that

$$a_{\beta}(t+1_{\alpha})a_{\alpha}(t) = p_{\beta\alpha} \cdot q_{\beta}q_{\alpha} \cdot p_{\beta1}^{t^1}p_{\beta2}^{t^2} \cdot \ldots \cdot p_{\betam}^{t^m}p_{\alpha1}^{t^1}p_{\alpha2}^{t^2} \cdot \ldots \cdot p_{\alpha m}^{t^m} \cdot r(|t|)r(|t|+1).$$

Since  $p_{\alpha\beta} = p_{\beta\alpha}$ , we can write

$$a_{\alpha}(t+1_{\beta})a_{\beta}(t) = a_{\beta}(t+1_{\alpha})a_{\alpha}(t), \quad \forall t \in \mathbb{N}^{m}, \ \forall \alpha, \beta \in \{1, 2, \dots, m\}$$

Ann. Sofia Univ., Fac. Math and Inf., 103, 2016, 53–60.

We deduce that the relations (2.3) are satisfied. According to Theorem 2 (with  $t_0 = t_1 = 0$ , there exists a unique function  $x \colon \mathbb{N}^m \to M$ , which, for any  $t \in \mathbb{N}^m$ verifies the recurrence (2.2), and the condition  $x(0) = x_0$ .

It is sufficient to show that the function defined by the formula (2.4), for  $t \in \mathbb{N}^m \setminus \{0\}$ , and  $x(0) = x_0$ , verifies the recurrence relation (2.2).

We shall verify the case  $m \ge 2$ ; the case m = 1 is treated similarly.

We fix  $\gamma \in \{1, 2, \ldots, m\}$ . We show that for any  $t \in \mathbb{N}^m$ , we have

$$x(t+1_{\gamma}) = a_{\gamma}(t)x(t).$$

Let  $t \in \mathbb{N}^m \setminus \{0\}$ . We need the set  $\mathcal{P}_{m,2}$  of the subsets with two elements from

the set  $\{1, 2, ..., m\}$ , i.e.,  $\mathcal{P}_{m,2} = \left\{ \{\alpha, \beta\} \subseteq \{1, 2, ..., m\} \mid \alpha \neq \beta \right\}$ . Since  $p_{\alpha\beta}^{t^{\alpha}t^{\beta}} = p_{\beta\alpha}^{t^{\beta}t^{\alpha}}$ , we observe that in the product  $\prod_{1 \leq \alpha < \beta \leq m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}}$  the factors

 $p_{\alpha\beta}^{t^{\alpha}t^{\beta}}$  occur, taken over all distinct elements  $\{\alpha,\beta\}$  of the set  $\mathcal{P}_{m,2}$ .

If  $m \geq 3$ , we can write

$$\mathcal{P}_{m,2} = \left\{ \{\gamma, \alpha\} \middle| \alpha \in \{1, 2, \dots, m\}, \alpha \neq \gamma \right\} \cup \\ \cup \left\{ \{\alpha, \beta\} \subseteq \{1, 2, \dots, m\} \middle| \alpha \neq \gamma, \beta \neq \gamma \right\},$$

hence we have

$$\prod_{1 \le \alpha < \beta \le m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} = \prod_{\substack{\alpha=1\\ \alpha \neq \gamma}}^{m} p_{\gamma\alpha}^{t^{\gamma}t^{\alpha}} \cdot \prod_{\substack{1 \le \alpha < \beta \le m\\ \alpha \neq \gamma, \ \beta \neq \gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}}.$$
(2.5)

 $\prod_{\substack{1 \le \alpha < \beta \le m \\ \alpha \ne \gamma, \ \beta \ne \gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}}.$ For m = 2, one obtains the relation (2.5), but without the factor

For m = 2, we denote  $\prod_{\substack{1 \le \alpha < \beta \le m \\ \alpha \ne \gamma, \ \beta \ne \gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} := e$ . With this convention, it follows that

the relation (2.5) is satisfied for any  $m \ge 2$ . The relation (2.4) becomes

$$\begin{aligned} x(t) =& q_{\gamma}^{t^{\gamma}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} q_{\alpha}^{t^{\alpha}} \cdot (p_{\gamma\gamma})^{\frac{t^{\gamma}(t^{\gamma}-1)}{2}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} (p_{\alpha\alpha})^{\frac{t^{\alpha}(t^{\alpha}-1)}{2}} \\ & \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} p_{\gamma\alpha}^{t^{\gamma}t^{\alpha}} \cdot \prod_{\substack{1\leq\alpha<\beta\leq m\\\alpha\neq\gamma,\beta\neq\gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} \cdot \prod_{j=0}^{|t|-1} r(j) \cdot x_{0}; \\ x(t+1_{\gamma}) =& q_{\gamma} \cdot q_{\gamma}^{t^{\gamma}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} q_{\alpha}^{t^{\alpha}} \cdot (p_{\gamma\gamma})^{\frac{(t^{\gamma}+1)t^{\gamma}}{2}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} (p_{\alpha\alpha})^{\frac{t^{\alpha}(t^{\alpha}-1)}{2}} \\ & \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} (p_{\gamma\alpha}^{t^{\gamma}t^{\alpha}} \cdot p_{\gamma\alpha}^{t^{\alpha}}) \cdot \prod_{\substack{1\leq\alpha<\beta\leq m\\\alpha\neq\gamma,\beta\neq\gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} \cdot \prod_{j=0}^{|t|} r(j) \cdot x_{0}. \end{aligned}$$

Ann. Sofia Univ., Fac. Math and Inf., 103, 2016, 53-60.

Since  $\frac{(t^{\gamma}+1)t^{\gamma}}{2} = t^{\gamma} + \frac{t^{\gamma}(t^{\gamma}-1)}{2}$ , it follows that

$$x(t+1_{\gamma}) = q_{\gamma} \cdot p_{\gamma\gamma}^{t^{\gamma}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} p_{\gamma\alpha}^{t^{\alpha}} \cdot r(|t|) \cdot q_{\gamma}^{t^{\gamma}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} q_{\alpha}^{t^{\alpha}} \cdot (p_{\gamma\gamma})^{\frac{t^{\gamma}(t^{\gamma}-1)}{2}} \cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} (p_{\alpha\alpha})^{\frac{t^{\alpha}(t^{\alpha}-1)}{2}}$$
$$\cdot \prod_{\substack{\alpha=1\\\alpha\neq\gamma}}^{m} p_{\gamma\alpha}^{t^{\gamma}t^{\alpha}} \cdot \prod_{\substack{1\leq\alpha<\beta\leq m\\\alpha\neq\gamma,\beta\neq\gamma}} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} \cdot \prod_{j=0}^{|t|-1} r(j) \cdot x_{0} = a_{\gamma}(t)x(t)$$

For  $t = 1_{\gamma}$ , the relation (2.4) reads as

$$x(1_{\gamma}) = q_{\gamma} \cdot r(0) \cdot x_0 = a_{\gamma}(0)x(0),$$

hence the equality  $x(t + 1_{\gamma}) = a_{\gamma}(t)x(t)$  is true also for t = 0.

**Remark 1.** If we use additive notation, i.e., the operation on N is denoted by "+" and  $\eta(a, x) = a + x$  ( $a \in N, x \in M$ ), then the recurrence relation (2.2) reads as

$$x(t+1_{\alpha}) = a_{\alpha}(t) + x(t), \quad \forall \alpha \in \{1, 2, \dots, m\}.$$

In Theorem 3, we have  $a_{\alpha}(t) = q_{\alpha} + t^1 p_{\alpha 1} + t^2 p_{\alpha 2} + \ldots + t^m p_{\alpha m} + r(|t|)$ . Formula (2.4) can be written

$$x(t) = \sum_{\alpha=1}^{m} \left( t^{\alpha} q_{\alpha} + \frac{t^{\alpha} (t^{\alpha} - 1)}{2} p_{\alpha \alpha} \right) + \sum_{1 \le \alpha < \beta \le m} t^{\alpha} t^{\beta} p_{\alpha \beta} + \sum_{j=0}^{|t|-1} r(j) + x_0.$$

**Corollary 1.** Let  $(M, \cdot)$  be a semigroup. We consider the function (sequence)  $r: \mathbb{N} \to \mathbb{N}^*$  and the elements  $q_{\alpha} \in \mathbb{N}^*$ ,  $\alpha \in \{1, 2, ..., m\}$ ,  $p_{\alpha\beta} \in \mathbb{N}^*$ ,  $\alpha, \beta \in \{1, 2, ..., m\}$ , with  $p_{\alpha\beta} = p_{\beta\alpha}$ ,  $\forall \alpha, \beta$ .

For each index  $\alpha \in \{1, 2, ..., m\}$ , we define the function

$$a_{\alpha} \colon \mathbb{N}^m \to \mathbb{N}^*, \ a_{\alpha}(t) = q_{\alpha} \cdot p_{\alpha 1}^{t^1} p_{\alpha 2}^{t^2} \cdot \ldots \cdot p_{\alpha m}^{t^m} \cdot r(|t|), \ \forall t = (t^1, \ldots, t^m) \in \mathbb{N}^m.$$

Then, for  $x_0 \in M$ , there exists a unique m-sequence  $x \colon \mathbb{N}^m \to M$ , which, for any  $t \in \mathbb{N}^m$ , verifies

$$x(t+1_{\alpha}) = x(t)^{a_{\alpha}(t)}, \quad \forall \alpha \in \{1, 2, \dots, m\},$$
(2.6)

and the condition  $x(0) = x_0$ . For any  $t \in \mathbb{N}^m \setminus \{0\}$ , we have

$$\left(\prod_{\alpha=1}^{m} q_{\alpha}^{t^{\alpha}} \cdot \prod_{\alpha=1}^{m} (p_{\alpha\alpha})^{\frac{t^{\alpha}(t^{\alpha}-1)}{2}} \cdot \prod_{1 \le \alpha < \beta \le m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}} \cdot \prod_{j=0}^{|t|-1} r(j)\right)$$
(2.7)

(if m = 1, the factor  $\prod_{1 \le \alpha < \beta \le m} p_{\alpha\beta}^{t^{\alpha}t^{\beta}}$  does not appear).

Ann. Sofia Univ., Fac. Math and Inf., 103, 2016, 53–60.

57

*Proof.* We apply Theorem 3 to the commutative monoid  $(N, \cdot, e) = (\mathbb{N}^*, \cdot, 1)$ and the action

$$\eta \colon \mathbb{N}^* \times M \to M, \quad \eta(a, x) = x^a, \quad \forall a \in \mathbb{N}^*, \forall x \in M.$$

**Remark 2.** *a*) If in Corollary 1 the semigroup  $(M, \cdot)$  is a monoid, then we can consider:  $q_{\alpha} \in \mathbb{N}$ ,  $p_{\alpha\beta} \in \mathbb{N}$  (with  $p_{\alpha\beta} = p_{\beta\alpha}$ ) and  $r: \mathbb{N} \to \mathbb{N}$  (i.e.,  $q_{\alpha}, p_{\alpha\beta}, r(j)$  can be eventually zero). The conclusion in Corollary 1 reads similarly and the solution of the recurrence (2.6) is defined by the formula (2.7).

The proof follows by applying Theorem 3 to the commutative monoid  $(N, \cdot, e) = (\mathbb{N}, \cdot, 1)$  and the action

$$\eta \colon \mathbb{N} \times M \to M, \quad \eta(a, x) = x^a, \quad \forall a \in \mathbb{N}, \forall x \in M.$$

b) If in Corollary 1 the semigroup  $(M, \cdot)$  is a monoid, and the element  $x_0$  of M is chosen invertible, then we can consider  $q_{\alpha} \in \mathbb{Z}$ ,  $p_{\alpha\beta} \in \mathbb{Z}$  (with  $p_{\alpha\beta} = p_{\beta\alpha}$ ) and  $r \colon \mathbb{N} \to \mathbb{Z}$  (i.e.,  $q_{\alpha}$ ,  $p_{\alpha\beta}$ , r(j) are integers). The conclusion in Corollary 1 writes similarly, and the solution of the recurrence (2.6) is defined also by the formula (2.7).

The proof can be obtained by applying Theorem 3 to the commutative monoid  $(N, \cdot, e) = (\mathbb{Z}, \cdot, 1)$  and the action

$$\eta \colon \mathbb{Z} \times U(M) \to U(M), \quad \eta(a, x) = x^a, \quad \forall a \in \mathbb{Z}, \forall x \in U(M),$$

where U(M) is the set of invertible elements in M; the set U(M), with operation induced by that of M, is a group.

Many other original results, regarding the multitime recurrences, can be found in [3]-[8]. Some related sources are [1], [2], [9]-[12].

#### 3. EXAMPLE OF MATRIX 3-SEQUENCE

Let us determine the matrix 3-sequence  $X \colon \mathbb{N}^3 \to \mathcal{M}_2(\mathbb{R})$ , which, for any  $t = (t^1, t^2, t^3) \in \mathbb{N}^3$ , verifies the recurrence relations

$$\begin{cases} X(t^{1}+1,t^{2},t^{3}) = X(t^{1},t^{2},t^{3})^{2^{t^{1}}\cdot 3^{t^{2}+1}\cdot 7^{t^{3}}\cdot (t^{1}+t^{2}+t^{3}+1)}, \\ X(t^{1},t^{2}+1,t^{3}) = X(t^{1},t^{2},t^{3})^{5\cdot 3^{t^{1}}\cdot 2^{t^{3}}\cdot (t^{1}+t^{2}+t^{3}+1)}, \\ X(t^{1},t^{2},t^{3}+1) = X(t^{1},t^{2},t^{3})^{11\cdot 7^{t^{1}}\cdot 2^{t^{2}}\cdot (t^{1}+t^{2}+t^{3}+1)}, \end{cases}$$

and the condition  $X(0,0,0) = A := \begin{pmatrix} 1 & -2 \\ 4 & 7 \end{pmatrix}$ .

58

We are in the assumptions of Corollary 1, with  $(M, \cdot) = (\mathcal{M}_2(\mathbb{R}), \cdot)$  and

$$q_1 = 3, \quad q_2 = 5, \quad q_3 = 11,$$

 $p_{11} = 2, \quad p_{22} = p_{33} = 1, \quad p_{12} = p_{21} = 3, \quad p_{13} = p_{31} = 7, \quad p_{23} = p_{32} = 2,$  $r \colon \mathbb{N} \to \mathbb{N}^*, \quad r(j) = j + 1, \quad \forall j \in \mathbb{N}.$ 

According to Corollary 1, for any  $(t^1, t^2, t^3) \in \mathbb{N}^3 \setminus \{(0, 0, 0)\}$ , we have

$$X(t^{1}, t^{2}, t^{3}) = A^{3^{t^{1}} \cdot 5^{t^{2}} \cdot 11^{t^{3}} \cdot 2^{\frac{t^{1}(t^{1}-1)}{2}} \cdot 3^{t^{1}t^{2}} \cdot 7^{t^{1}t^{3}} \cdot 2^{t^{2}t^{3}} \cdot (t^{1}+t^{2}+t^{3})!,$$
$$X(t^{1}, t^{2}, t^{3}) = A^{2^{\frac{t^{1}(t^{1}-1)}{2}} + t^{2}t^{3}} \cdot 3^{t^{1}(t^{2}+1)} \cdot 5^{t^{2}} \cdot 7^{t^{1}t^{3}} \cdot 11^{t^{3}} \cdot (t^{1}+t^{2}+t^{3})!,$$

relation which is also true for  $(t^1, t^2, t^3) = (0, 0, 0)$ .

By induction one shows that

$$A^{n} = \begin{pmatrix} 2 \cdot 3^{n} - 5^{n} & 3^{n} - 5^{n} \\ 2(5^{n} - 3^{n}) & 2 \cdot 5^{n} - 3^{n} \end{pmatrix}, \quad \forall n \in \mathbb{N},$$
$$A^{n} = 3^{n} \begin{pmatrix} 2 & 1 \\ -2 & -1 \end{pmatrix} + 5^{n} \begin{pmatrix} -1 & -1 \\ 2 & 2 \end{pmatrix}, \quad \forall n \in \mathbb{N}.$$

It follows that, for any  $(t^1, t^2, t^3) \in \mathbb{N}^3$ , the general term is

$$X(t^{1}, t^{2}, t^{3}) = 3^{2^{\frac{t^{1}(t^{1}-1)}{2} + t^{2}t^{3}} \cdot 3^{t^{1}(t^{2}+1)} \cdot 5^{t^{2}} \cdot 7^{t^{1}t^{3}} \cdot 11^{t^{3}} \cdot (t^{1}+t^{2}+t^{3})!} \cdot \begin{pmatrix} 2 & 1 \\ -2 & -1 \end{pmatrix}} + 5^{2^{\frac{t^{1}(t^{1}-1)}{2} + t^{2}t^{3}} \cdot 3^{t^{1}(t^{2}+1)} \cdot 5^{t^{2}} \cdot 7^{t^{1}t^{3}} \cdot 11^{t^{3}} \cdot (t^{1}+t^{2}+t^{3})!} \cdot \begin{pmatrix} -1 & -1 \\ 2 & 2 \end{pmatrix}}.$$

ACKNOWLEDGEMENTS. This work has been funded by the Sectoral Operational Programme Human Resources Development 2007-2013 of the Ministry of European Funds through the Financial Agreement POSDRU/159/1.5/S/132395.

## 4. REFERENCES

- Bousquet-Mélou, M., Petkovšek, M.: Linear recurrences with constant coefficients: the multivariate case. *Discrete Math.*, 225, no. 1, 2000, 51–75.
- [2] Elaydi, S.: An Introduction to Difference Equations, Springer, 2005.
- [3] Ghiu, C., Tuligă, R., Udriște, C.: Discrete linear multiple recurrence with multiperiodic coefficients. arXiv:1506.05022v1 [math.DS] 11 Jun 2015.

Ann. Sofia Univ., Fac. Math and Inf., 103, 2016, 53–60.

- [4] Ghiu, C., Tuligă, R., Udrişte, C.: Discrete multitime multiple recurrence. arXiv:1506.02508v1 [math.DS] 5 Jun 2015.
- [5] Ghiu, C., Tuligă, R., Udrişte, C.: Linear discrete multitime multiple recurrence. arXiv:1506.02944v1 [math.DS] 5 Jun 2015.
- [6] Ghiu, C., Tuligă, R., Udrişte, C., Ţevy, I.: Discrete multitime recurrences and discrete minimal submanifolds. Balkan J. Geom. Appl., 20, no. 1, 2015, 49–64.
- [7] Ghiu, C., Tuligă, R., Udrişte, C., Ţevy, I.: Multitime Samuelson-Hicks diagonal recurrence. BSG Proceedings 22, 2015, 28–37.
- [8] Ghiu, C., Tuligă, R., Udriște, C., Ţevy, I.: Floquet theory for multitime linear diagonal recurrence. U.P.B. Sci. Bull., Series A, 77, 2015, to appear.
- [9] Pemantle, R., Wilson, M.C.: Analytic Combinatorics in Several Variables, Cambridge University Press, 2013.
- [10] Udrişte, C., Bejenaru, A.: Multitime optimal control with area integral costs on boundary. Balkan J. Geom. Appl., 16, no. 2, 2011, 138–154.
- [11] Udrişte, C., Ţevy, I.: Multitime dynamic programming for multiple integral actions. Journal of Global Optimization, 51, no. 2, 2011, 345–360.
- [12] Udrişte, C.: Minimal submanifolds and harmonic maps through multitime maximum principle. Balkan J. Geom. Appl., 18, no. 2, 2013, 69–82.

Received on October 23, 2015

Cristian Ghiu University Politehnica of Bucharest Faculty of Applied Sciences Department of Mathematical Methods and Models Splaiul Independentei 313, Bucharest 060042 ROMANIA

e-mail: crisghiu@yahoo.com

Constantin Udriște, Raluca Tuligă

University Politehnica of Bucharest Faculty of Applied Sciences Department of Mathematics-Informatics Splaiul Independentei 313, Bucharest 060042 ROMANIA

e-mails: udriste@mathem.pub.ro ralucacoada@yahoo.com